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General awareness

1. 'Purna Swaraj' was announced in the Indian National Congress session

a) Kolkata b) Lahore ¢) Nagpur d) Karachi

2. Who declared 'Swaraj is my birth right'?

a) Gopal Krishna Gokhale b) Veer Savarkar
¢) Bala Gangadhar Tilak d) M.K Gandhi

3. Which Ocean is there to the south of India?
a) Bay of Bengal b) Hindu Maha Sagar ¢) Arabian Sea d) Pacific Sea

4. Thar Desert is in which state?

a) Rajasthan b) Madhya Pradesh  c¢) Uttar Pradesh d) Andhra Pradesh

5. Which one is NOT a fundamental right now?

a) Right to Equality b) Right to freedom
c¢) Right to property d) Right to freedom of religion

6. Which type of city administration controls larger urban area?
a) Nagar panchayat b) Municipal Council
¢) Municipal Corporation d) None
7. NITI Aayog came into effect from
a) 1-3-2015 b) 1-4-2015 c) 1-1-2015 d) 25 -12-2014

8. P.V. Sindhu is associated with
a) Tennis b) Football ¢) Badminton d) Cricket

9. West Stand at the Sharjah cricket stadium was renamed after

a) Virat Kohli b) Sachin Tendulkar c¢) Kapil Dev d) Afridi

10. Indian Council for Cultural Relations (ICCR) partnered with which Technology
Company to promote Sanskrit

a) Microsoft b) Meta ¢) Twitter d) Google
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AT SIREEdl

1. VA ¥ wRE W H Yol TR 1 Swon Y TE o |

a) FHIHH b) FER ¢) MRTYL d) =t
2. Fe|e Tiftm feen % e #0 wwatdg e 32

a) IS F7 RS b) F AT

¢) 9T TR faors d) TH.F. Tt

3. IRG ¥ TR0 § B 91 HEEEN 22
a) TS HI @Il b) f&g wer AR ¢) 3WF 9N d) T=I9 9

4. ¥R A few =g § 2
a) TS b) HeA S ) T UL d) =1 &3

5. IO § FF W ASF ARER TG 22
a) FHMEAT FT AR b) TFIAAT & AfTHR
) 9ufl =1 3Mferer d) 99 F Al F1 ATFR

6. TFH TR 1 T T T2 WU &4 B P T B

a) TR 9=Ed b) TR 9N
¢) TR M d) ®E =5l
7. MA@ __ wem gl
a) 1-3-2015 b) 1-4-2015 ¢) 1-1-2015 d) 25 -12-2014

o

8. 441, iy fead wwifm ¥

a) ofH b) Fedre ) Tefifeq d) Frewe
9. TS FFke wfeem § I ©e =1 W /oW F o= T |
a) fovre #Est b) | dgFET ) ®UT 37 d) STHES

10. WA WiEFa® H hug (EHHEER) § 955a 1 99 3 ¥ o f5e San s ¥
| RiEra
a) AISHEFE b) HeT o) fgex d) [
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11. Which State/UT is the host of 'International Geetha Mabhotsav - 2022°?
a) Andhra Pradesh b) Haryana ¢) Telangana d) Kerala

12. Raman Research Institute is based in which city?

a) Chennati b) Pune ¢) Bangalore d) Hyderabad

13. Which satellite was developed jointly by NASA and ISRO?
a) NASA b) ISRO ¢) NISAR d) None

14. Which of the following describe correctly the G-7 countries?

a) Developing countries b) Industrialised countries
¢) Countries holding atomic bomb d) Countries which can launch their own
technology satellites

15. UNESCO stands for

a) United Nations Educational Scientific and Cultural Organisation
b) Unilateral Nations Educational Scientific and Cultural Organisation

¢) Universal Nations Educational Scientific and Cultural Organisation
d) None

16. Where is the headquarters of ONGC?
a) Mumbai b) New Delhi ¢) Kolkata d) Chennai

17. According to NEP -2020 the current 10 + 2 system is to be replaced by which new
curriculum structure?

a) 5+4+3-+3 b) 4+5+3+3 ¢) 5+3+3+4 d) 5+4+4+2
18. According NEP — 2020 at what stage in school education students will be given
increased flexibility in course choices of subjects to study?

a) Primary b) Foundation ¢) Secondary d) Pre primary

19. Which neighbouring countries share border with Arunachal Pradesh state?

a) Nepal, Bhutan b) Nepal, China ¢) China, Bhutan d) None

20. How many neighbouring countries share land borders with India?

a) 9 b) 8 ¢) 10 d)7
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| 11. %11 A O9/%3 G T SA0HE a1 HEEa - 2022 FT AT T2
a) 3 U b) i ¢) AFIMAT d) ¥

o /A

} 12, T AW Fea e Tt | fam &2
a) ATE b) oI ¢) TSR d) TEUEE

13. 91 3R T F GYE ©T ¥ FF W I0E A fFw w=w an
a) AT b) TEU ¢) fRar d) =S TE&

14, Frafefem § & =@ I -7 350 51 98 09 w=@n 22

a) femRie <@ b) ETF I
¢) URHIY] S WRIAE W@ 9o <@ d) ¥ 3T S o9 T | IWE H B B Gh

15. FFER FQMAA __ B |
a) YW ¥ AferE I 7 giewias e
b) THATH Y f&F I3 AN WiEHa® da
¢) ATEIfE g JAfaE I R diesias S
d) Fo W &
16. TS F1 GEAET T 22
a) 4% b) 7 fegh ¢) FIFHAT d) o=

17. TUY -2020 F JTER TIHE 10 + 2 TUMS HI F66 U TETHH GEAT g0 N fean
A &2

a) 5+4+3+3 b) 4+5+3+3 ¢) 5+3+3+4 d) 5+4+4+2

18. Tl - 2020 ¥ AFHR TFS Ren H Fre T W ST B A T F (9 A F qeww
E ﬁ'ﬁ_ o [ oY ( ‘\% [ N f\)ﬁqT ;
a) WAHE b) ®TEEIH ¢) TEAfE d) I8 WS

19. JEIES TN TSF F 919 B ¥ TSR 37 €A 9 w9 82
a) S, e b) TS, €4 ¢) ¥H, YN d) ®E &l

20. fFaw TSrf ¥ wRA ¥ Wy S S AR O E 2
a) 9 b) 8 o) 10 d) 7

July 2023 Page 5 0f24



21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

The recent Odisha train accident occurred at which railway station?

a) Balasore b) Bahanaga Bazaar  c¢) Berhampur d) None

Who is India’s Minister of Education, Skill Development and Entrepreneurship?

a) Sh Ramesh Pokhriyal Nishank b) Sh. Prakash Javdekar

¢) Sh. Dharmendra Pradhan d) Smt. Smriti Irani

Who inaugurated new Parliament building?

a) Rajiv Gandhi b) Om Prakash ¢) Narendra Modi d) Draupadi Murmu
PRASAD scheme is connected with

a) Free Prasad in Temple b) Free Gas

c¢) Pilgrimage Rejuvenation d) Free Food

Where is Victoria Memorial in India?
a) Agra b) New Delhi ¢) Chennai d) Kolkata
Numerical Ability
i-—§+% isequalto
1 1 1 1
a) Z b) — EZ C) E d) - E

Arrange the following fractions in their ascending order of magnitude 2'12'15°558
)35223 b)3516313
4’8’16'29" 12 8'12’29’4’ 16
C)EEEEE )3513163
8’12729 16" 4 8’12"16"29" 4
Convert 0.15 15 15........ into a fraction
5 17 9 7
a)— b) — c)— =
) 33 ) 33 ) 11 d) 33

What is the square of HCF of 36, 40 and 48?
a) 16 b) 49 - )25 d) 36

Which among the following numbers is exactly divisible by 7, 11, 13?
a) 14982 b) 15004 c) 14993 d) 15015
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21. TS & H AW 77 e 54 oy = W g o

a) TAER b) TEFETT =S ¢) TR d) &5 &
22. G ¥ Ren, s13e Fwm & st @& =9 ¥

a) o T ifeae s b) =t THTRT TETHT

) = gy gy d) #dt wafa st

23. U T§HY W9 FT I Feaa e
a) T e b) 3T TEHTT ¢) TF A d) S 79

24, fRETETE AT (TER)EIG €.

a) FexIe® WfE e 9 b) 3% T\ ¥
¢) AT FTAHT d) fFe3e® °omrR ¥

25. WRA # FERiiE AHiies 2 2

a) A b) ¢ femt ¢) IE d) i
HEATeH® A
2. - —>4+> =
4 3 8
1 1 2 =
a) oa b~ P -5

27, Praffra ofei =) e % s ww § srafer S |

4’12’16’ 29’ 8

)3313165 b)3516313
)= === y2 2 205221
4’8’16729 12 8’12'2974 16
3 5 16 13 3 3 5 13 16 3
C) PR I S R T d) PR A R e T
8712’29’16’ 4 8712’16°29° 4
28. 0.15 15 15........ ] 3ty H giafaa =1 |
5 17 9 7
a) — b) — c) — d) —
)33 )33 )11 )33

29. 36, 40 3R 48 ¥ HCF F1 o9 T &2
a) 16 b) 49 ¢) 25 d) 36

30. frafefem § & = & d@em 7, 11, 13 & fiege s &
a) 14982 b) 15004 ¢) 14993 d) 15015
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31.

32.

33.

34.

3s.

36.

37.

38.

39.

Among four students sitting in a row, average age of last three students is 20 years and
the average age of first three students is 21 years. If the age of the first student is 26 years
what is the age of the last student?

a) 23 b) 37 ¢) 24 d) 29

A crate of eggs holds one rotten egg out of 25 eggs in it. If 5 out of 8 rotten eggs are
unusable, total unusable eggs in the crate are 10. Then calculate the number of eggs in
the crate.

a) 380 b) 400 c) 420 d) 440

Two students A and B appeared for an examination. A secured 8 marks more than B.
The marks of A were 55% of the sum of the marks of A and B. The sum of the marks
obtained by A and B is

a) 100 b) 80 c)75 d) 90

The difference between cost price and selling price is Rs.576. If the profit is 16% then
what is the cost price?

a) 3024 b) 4176 ¢) 3600 d) 3800

A shopkeeper bought an article for Rs.100 and marked its price 25% above the cost price.
How much percentage of discount should he announce in order to make a profit of 15%?

a) 8.25 b) 8.5 )8 d) 10

In how many years shall Rs.3500 invested at the rate of 10% simple interest per annum,
amount to Rs.4500?

5 3 4 6

The difference between the compound interest and the simple interest on a sum at 10%
per annum for three years is Rs.155. What is the sum?

a) 5500 b) 6000 ¢) 6600 d) 5000

A and B can complete a piece of work in 15 days and 10 days respectively. They got a
contract to complete the work for Rs.35000. The share of A in the contracted money will
be (in rupees)

a) 15000 b) 14000 c) 21000 d) 7000

The area of a semi-circle is 1925 sq.cm. Calculate its perimeter (in cm)

a) 360 b) 80 ¢) 160 d) 180

40. The edges of a rectangular box are in the ratio of 1:2:3. Its surface area is 88 cm?. The

volume of the box is

a) 24 cm’ b) 48 cm? ¢) 64 cm’ d) 120 cm®
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

u% URE ¥ ¥ 9N DT # ¥, fM d Sl # d@d(average) g 20 T ¥ WX TS dH
BT 1 oiEa o 21 T ¥ | A TES B F A 26 T 3, A1 sifew v =g R
a) 23 b) 37 c) 24 d) 29

ol ¥ TF S H 25 S # § UH A g o1 G ¥ | Ay 8 WY g€ o § {5 gwEni &,
A T | T gwER o 10 ¥ | e 2 | ol fit g Fi o w1
a) 380 b) 400 ¢) 420 d) 440

% B A SR B U wien ¥ f5u Suftu@ gu 1 A A B ¥ 8 3% oifw ww fHU) A F 3F A iR
B ¥ 3% % 90T (sum) ¥ 55% ¥ | A 3R B G W i B AR L2
a) 100 b) 80 Q75 d) 90

9 59 IR %9 993 ¥ €9 w1 o 576 T ¥ | A I 16% ¥ A F9 A T2
a) 3024 b) 4176 ¢) 3600 d) 3800
TF THAIN A TF 956G F 100 &9 H G AR SHE oA F9 G4 | 25% A0+ 40
e 1 15% %1 o FAM F fou I8 e afogd ge $1 awon FTE e
a) 8.25 b) 8.5 c) 8 d) 10
fra a9t § 3500 TIA WA ¥ 10% WURY A< H 1 | FEm e Smom, s 4500 €
T

5 3 4 6
a) 2'7' b) 2'7' c) 2; d) 2;
& Tt F 5T 10% TR T4 [ H TF TR W THIG A AR JHEOT SR F A F AR
155m%|tﬁ: (amount) W%"
a) 5500 b) 6000 ¢) 6600 d) 5000

A ¥R B UF ¥ %1 FAW: 15 A1 Ar 10 R # w0 % 994 ¥ | 3% 35000 T H =W @
T T %1 ST | geim «F | A %1 feew g (v #)

a) 15000 b) 14000 ¢) 21000 d) 7000

TF AIFA FATFES 1925 sq.cm 2 | TR R B o @l §) fiivw |

a) 360 b) 80 ¢) 160 d) 180

T APATER (rectangle) SF9 % FFARI %1 1G9 1:2:3 2 | THH §aE (surface) &TFS
88 sq cm ¥ | AT T (A 2l

a) 24 99 9H b) 48 I9 T ¢) 64 I9 GiH d) 120 99 94
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|

41- 45 Study the following table carefully and answer the questions.

Percentage of Marks obtained by different students in different subjects
Students Subjects and Marks
Hindi | English | Maths Social Science | Sanskrit
Max 100 50 150 125 150 50
Marks
Bhavya 98 88 84 88 64 68
Pankaj 77 92 92 88 84 80
Tanish 81 80 84 80 78 90
Arnav 90 86 76 64 66 56
Anshul 69 66 66 76 72 72
Devang 89 90 70 92 60 66

41. Total marks obtained by Bhavya in all subjects
a) 508 b) 477 c) 454 d) 537

42. Average marks obtained by all students in Sanskrit
a) 72 b) 48 c) 28 d) 36

43. How many students have scored the highest marks in more than one subject?
a)2 b) 1 c)3 d)4

44. What is Tanish’s overall percentage of marks in all the subjects together?
a) 85.92 b) 72.64 c) 81.44 d) 76.32

45. Who scored the highest marks in all the subjects together?
a) Bhavya b) Pankaj ¢) Anshul d) Devang

46 — 50 The bar graph shows the marks obtained by a student in different subjects. Study

the graph and answer the questions.

100
90
90
SIS
ARSI, 80
80 Ll
77
EPPr N
SRS
70 ot
[
Sy
AT
60 55 LA
S
EEPEPE
AL, [ A A
SO ety [0
I (A
o 40 o
40 Gl [ A
Cld s [
A [ A P
(leoild [\
30 A A [ 1
eeed [
ESSE L [ EF S
20 ALLAEE s
IAEEE A AL L
Lt IR, i dd
ClLdads LS Ll
10 A AL (Ll
il A (il
G IS S AAEEE
0 A Ll il i
English Sanskrit Hindi Veda
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41-45 frafsREam afes1 F1 AT qwam SRm o) vai % T S |

At fawi @ e s g/ st =1 afeE

Hog W9 | 100 50 150 125 150 50
tCo 08 88 84 88 64 68
L 77 92 92 88 84 80
ar 81 80 84 80 78 90
Arnav 90 86 76 64 66 56
IS 69 66 66 76 72 72
T 89 90 70 92 60 66
41. Wt ol ® WS g W TS 0.
a) 508 b) 477 ) 454 d) 537
42, §5Fa § Wi B T MW A (average) F
a) 72 b) 48 ) 28 d) 36
43. T BT 4 ©% | s R § |9t % e e ¥
a) 2 b) 1 c) 3 d) 4
44. h B # afm ¥ o w1 3o TRam R
a) 85.92 b) 72.64 c) 81.44 d) 76.32
45. Tt Tl § TF Wiy SR i feRE O frw
a) = ) b) s c) YT d) i

46 - 50 TR UTH TF B T A" i # W fF7 w1 T30 ¥ | WME B T 1 AW uh ¥

IW T |
100
a0
80
70
60
50
40
30
20
10

0
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46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

The student is sharp in which subject?

a) English b) Sanskrit ¢) Hindi d) Veda

The student is poor in which subject?

a) English b) Sanskrit ¢) Veda d) History

What is the average of the total marks obtained by the student in all subjects?
a) 57 b) 63 c) 80 d) 48

If all the subjects are for 100 marks maximum each what is the average percentage of
marks obtained by the student?

a) 57% b) 63% c) 80% d) 90%
What is the ratio of highest marks to the lowest marks obtained by the student?

a)2:11 b) 9:2 c)2:9 d)11:2

Reasoning Ability

Choose the related word

Bow: Arrow Pistol: ?

a) Bullet b) Gun ¢) Shoot d) Rifle

What figure should be there at__ ?
697:976 532 9

a) 320 b) 354 ¢) 237 d) 325

Find out the odd word pair
a) Friend: Foe b) Rich: Poor ¢) Kind: Cruel d) Games: Sports

Find out the odd number
a)9 b) 42 c)21 d) 20

Which will be the next number in the series - 1, 2, 6, 24, 120, ?
a) 240 b) 570 c) 720 d) 360

What shall be the next letter in series N, 0, Q, T, X, C, ?
a)l b) H c)C d)G
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S —

46

47.

48.

49.

50.

51.

52.

53.

54

55.

56.

d) 38

d) fae™

d) 48

d) 90%

d) 11:2

d) g%

d) 325

d) @@ @@

d) 20

d) 360

d G

. PR FE A E A
a) ST b) HEHd OREEL
o1 f5e v H§ sH9R 22
a) U b) Fi%%ﬁ c) E
Wit Bl § B IR W TS S B w82
a) 57 b) 63 c) 80
Atz Tt A SR aH 100 %1 ¥ €, 9 S g W %] T AHa gfewd 7 82
a) 57% b) 63% ) 80%
BT G W SHAH %] 3N A 3l T JII T 82
a) 2:11 b) 9:2 c) 2:9
¢
% &Hd
efE =g 9 |
g diX : fredre: ?
a)TﬁEQ[ b)w c)“’ﬁ?ﬁq’rﬁ
{1 G S =Ry 2
697: 976 : 532: 2
a) 320 b) 354 c) 237
9% (odd) TE L FT a1 FIG |
a) fer: =g b) HIT T ) TG
. f9 ¥ (odd) T=a I HiSH |
a) 9 b) 42 c) 21
1, 2, 6, 24, 120, ? 39 SE@ST | SIS AR F19 G A0 ?
a) 240 b) 570 ¢) 720
N,O, QT X, C,, T JESTH F(ST g T 0N ?
a) l b) H c) C
July 2023
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57. In a village number of mice are increasing every year. By given data evaluate the missing

number
Year | 1990 | 1991 | 1992 1993 | 1994 1995 |
number | 4 | 8 16 7 | 44 64 |
a) 22 b) 32 ¢) 28 d) 34

58. In an examination; 30% of the students fail in Mathematics, 25%, of the students fail in
English and 15% of the students fail in both English and Mathematics. To pass the
examination, it is necessary to pass in both Mathematics and English. Find out the
percentage of students who passed the examination.

| a) 55% b) 60% c) 45% d) 40%
‘ 59. Select the Venn diagram that best represents the relationship among ‘Reptile, Mammal,
Lizard’.
000 © (D &
A B c D
a)B b)C c)D d) A

60-61. Observe the following diagram and answer the questions.

60. Which number lies in all the figures?
a)3 b) 6 c)4 d)7

61. Which number lies only inside the triangle?
a) 1 b) 4 c)7 d) None

62. Two statements and two conclusions are given. Study and decide which of the conclusions,
if any, follows from the given statements.

Statements : 1. No fruits are berries
2. Some Cherries are fruits

Conclusions : I All berries are Cherries II Some cherries are berries
a) only conclusion I follows b) only conclusion II follows
¢) both conclusions I and II follow d) neither conclusion I nor conclusion 11 follows
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57.@nﬁﬁgtm?@ﬁﬁwwr@%lﬁﬂ%w??m@aﬁwmﬁaﬁmﬁl

qe | 1990 | 1991 | 1992 1993 1994 1995
& 4 8 16 ? 44 64
a) 22 b) 32 c) 28 d) 34

58. UF W& H, 30% BT 0@ § el & T ¥, 25% T iR # srgeivt 81 5 ¥ v 15%
BT SR AR O S A orgeiol 3 ¥ | when we s % R i i sReh S § T
AT &L 2 | 9en IO = A S F AR 39 Ei0 |
a) 55% b) 60% ¢) 45% d) 40%

59.éﬁﬁﬁmwﬁsﬁwﬁw,mﬂmﬁ,wﬁsﬁaﬁéﬁﬂﬁmﬁwaﬁm%l
000 (© O @
A B G D

a) B b) C c)D d) A
60 - 61 fFafsfem Tnfm #1 sEEwT FiRE K 94 ¥ @ SR/ |

60. Wit rEfEl # F= S Hewn ffE
a) 3 b) 6 c) 4 d 7
61. T |l W ¥ Frgs ¥ i o o
a) 1 b) 4 Q) 7 d) T 7L

62.%mmﬁnﬁﬁwﬁﬁqm%lﬁqmmﬁwmmﬁﬁﬁﬁnﬁﬁqﬁﬁﬁ%ﬁﬂm
fred, afy 1 <, w1 sgEw w2
FAM:- 1. FIE T TG T L
2. 9 99 T ¥

- oot S 90 ¥ I F5 99 S99 &
a) H9% FY [ g 2 b) Faw = 11 TE &
¢) e 1 =/ 11 347 s ¥ d) 7t o 1 e T & feed 1 owS R
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63. How the figure in ? box looks like?

/N XX s3]
J P

64. Find out the figure which is different from others

OO0

65. The average age of father and his son is 22 years. The ratio of their ages is 10:1. What is
the age of the son?

a) 24 b) 4 c) 40 d) 14

66. An institute has to decide whether to outsource a specific task or to keep it in house. What
is the important factor for decision making?

a) cost of outsourcing b) quality of work
¢) Availability of resources in house d) None

67. An institute has to take a decision whether to launch a new programme or not. The
institute has to consider which factor as most important?

a) Demand for the course

b) Availability of the new programme in other institutions
¢) Launching cost

d) none

68. A is sister of B. C is brother of D. D is sister of A. How is B related to D?
a) Brother b) Brother or Sister ¢ Sister d) None

69. Sona is sister of Ramesh and daughter of Mohit. Rama is wife of Mohit and mother of

Prabhat. How Ramesh is related to Prabhat?
a) Sister b) Brother ¢) Son d) Cousin
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63. ? Tafga < # THETST H1 fEar 22

N T =E
| 2=

c) d)

64. TE Y@ T Fiord S g ¥ A R

QCOOQ

65. fa =ik <% g9 1 ol g 22 A9 ¥ | ITH AT F AIIE 10:1 & | T F g w0 L2
a) 24 b) 4 c) 40 d) 14

66. UF HEM F q€ a9 T @1 & % et RRE 9 |1 S0 F1 £ 31 704 W § & FE@1
3 | folg 3 % fou weaayol w1 w1 2

a) SMSHMNET H FTTT (cost) b) FM I O
¢) T H G I TSl d) 8 | T

67. TF HEqM BT I (0 S S0 B 76 7o BEHH T& 0§ A AE | GO F 06T BEF F
|EH ARV WAl ERI?
a) TR & [ b) 1 HEIMl H U HTEAHY 6 ST
¢) BT BET (cost) d) 8 o T

68. A, BRI Z I C, D FIME R | D, A $1 729 £ | B, D | 59 TR Geifq 2
a) WTg b) HTE =T W& ) TEA d) =g TE

oS ed

69. |AT WiR $ TgA AR AfEa F1 I8 B | T Afem F g R v@ A ¥ | @, |

a) o b) W OICE] d) == e
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70 - 72. A, B, C, D, E, F, G and H are sitting in a circle facing the centre. B is second to the
right of H and third to the left of A. D is not an immediate neighbour of either B or H. D
is second to the right of F. C is fourth to the right of G.

70. Who is to the immediate right of E?
a)B b) A c)C d)D

71. Who is fourth to the right of H?
a)F b)E c)B d) A

72. Who is fourth to the left of H?
a)F b)G ¢)D dE
73. Lakshman went 15 kms to the west of his house. Then turned left and walked 20 kms.

Then turned East and walked 25 kms. Then turned left and walked 20 kms. How far was
he from his house (in the short distance in Km)

a)>5 b) 10 c) 40 d) 8

74. Arrange the following words in a logical and meaningful order
Flat, Street, Room, Apartment, City
a) 3,5,1,4,2 b) 5,4,3,2,1 ¢)3,1.4.2,5 d) 3,4,1,2,5

75. How many squares are there in the given figure?

a) 16 b) 17 ¢) 26 d) 30

General Knowledge on Veda,
Sanskrit and Indian Knowledge System

76. National motto of India

a) Dharmo Rakshati Rakshitaha b) Satyameva Jayate
c) Asato ma Sadgamaya d) Sheelena Shobhate Vidya

77. ‘Mundaka’ is a/an
a) Veda b) Vedanga ¢) Upanishad d) None
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70-72A,B,C, D,E F,GIRHFIFF MG FF F WA IS L (B, H F 79 4 g 3R A
% Al IR A G| D, B A H F Ffeqn TR 8 B I D, FHF I A g WM W |
G % TR Y A WE

70. E ¥ 3% Il oI %6 22
a) B b) A c) C d) D

71. H % 30 | 9% wF W $1 &2
a) F b) E ¢) B d) A

72. H % a0l 3R Y T W B4 72
a) F b) G &) D d E

73. TEA AT W F UEM H 15 frorier 61 gt W W T B A @R g9 ¥R 20 feemie

91 | fF g3 1 =R g1 @R 25 frerier o=1 | R o SR g1 3R 20 frondiet @@ | 98
q W H R T W o (0 T H fELRL)

a) 5 b) 10 c) 40 d) 8
74. Frafeaa T=31 #1 qTET IR 919% F9 § =9y #1 |
T, UTH, T, AUEHE, TR

a) 3,5,1,4,2 b) 5,4,3,2,1 c) 3,1,42,5 d) 3,4,1,2,5

75. fXu e R § fea = 8

a) 16 b) 17 c) 26 d) 30

5, GEFA, AR ARAA T TOIST W T

76. RA %1 THE A1EY 914,

a) YT g Tdera: b) IHAE SEd
¢) 94l | 9gHT d) 3T T fom
77. GTF TE 2l
a) 9% b) F=T ¢) IUEE ) F5 ff &
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78. ‘Bhaagavatam’ is a
a) Veda b) Upa Purana ¢) Mahapurana d) Vedanga

79. To which Vedashakha does the Taittireeya Shakha belong?

a) Shukla Yajurveda b) Rigveda
¢) Krishna Yajurveda d) Samaveda

80. ‘Malavikagnimitram’ is composed by
a) Bhavabhuti b) Shudraka ¢) Kalidasa d) Vishakhadatta

Language Comprehension

81 — 90: Fill up the blanks with suitable option:

) PR— Times of India is a newspaper
a) A b) An ¢) The d) None
82. He who ............ at others is not good
a) Laugh b) Laughs c) have laugh d) laugh not
83. He ordered .....ccceeeeee a cup of tea
a) for b) to ¢) from d) None
84. Which is «.cccceeueeee coffee or tea?
a) good b) best ¢) better d) most good
85. Not only ....ccceee she ccoeeeeeee TV, but she also cooked meal
a) does, watch b) did, watch ¢) had, watched d) did, watched
80. coverereeneas is the Synonym of ‘Melancholy’
a) bright b) happy ¢) comfort d) gloomy
. P—— is the Antonym of ‘Severe’
a) Serious b) Mild ¢) Save d) None
88. ‘The news surprised all’ can be written as
a) All are surprised by the news b) All were surprised at the news
¢) All were surprised by the news d) All had been surprised at the news
89. He said to her, ‘What do you want?’ can be written as
a) He told her what she wanted b) He asked her what she wanted
¢) He asked her that what she wanted d) He inquired that what she wanted
90. ‘No other employee is as good as Radha’ can be written as
a) Radha is the best employee b) Very few employees are as good as Radha
¢) Radha is one of the best employees d) Radha is better than most other employees
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78.

79.

80.

ATETH T 2
a) 9 b) 39 T ¢) FETEIT d) =P
SRt e few 31 1 e ¥
a) YF IJ9% b) RIS
¢) FOUEJAS d) |mHaT
faN ﬁr\ s & ﬁw%%?
a) Ha4(d b) IE®: ¢) Hiforara: d) fermeErEs:
WTST 61 90

81 — 90: Fill up the blanks with suitable option:

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

........... Times of India is a newspaper

a)A b) An ¢) The d) None
He who ............ at others is not good

a) Laugh b) Laughs ¢) have laugh d) laugh not
He ordered ............... a cup of tea |

a) for b) to c¢) from d) None
Which is ...c.ceeenee coffee or tea?

a) good b) best ¢) better d) most good
Not only ........... | 1 RR—— TV, but she also cooked meal

a) does, watch b) did, watch ¢) had, watched d) did, watched
.............. is the Synonym of ‘Melancholy’

a) bright b) happy ¢) comfort d) gloomy
........... is the Antonym of ‘Severe’

a) Serious b) Mild c) Save d) None
‘The news surprised all’ can be written as

a) All are surprised by the news b) All were surprised at the news

c¢) All were surprised by the news d) All had been surprised at the news
He said to her, ‘What do you want?’ can be written as

a) He told her what she wanted b) He asked her what she wanted

c) He asked her that what she wanted d) He inquired that what she wanted
‘No other employee is as good as Radha’ can be written as

a) Radha is the best employee b) Very few employees are as good as Radha

c) Radha is one of the best employees d) Radha is better than most other employees
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1. ‘ES’ TR F THAAE T A T 2 |
a) WY b) g

02, ‘ETHF TR 1 ASW TeE Al 22
a) SCAETIF b) AETIF

93. ST T F A4

a) 9 b) g
94, TS T 1 ¥ - qE %A | TER 2
a) FHHOT b) FAN

05. FYET ST T BT | 57 &2

a) Gt b) BT
96. =T TEE FT [ HIAAT 82

a) gread b) T
97-100 Tg &I T |

97. THST 3R Hia TR T |
) FHST AR Har ga 9 |
¢) FHPT 3 diar g 9 |
98. TH FEI G |
a) T FE G |
¢) TH 3 FEl G |
90. WY FTHU H T & Hra |
a) T FH H 98 FE 9 |
o) T FAT § 9 T | € |
100. THEEE F1 TAE T W FFAE 2
a) qoEE 1 TEEY 9T e A 2
o) gEEEE ¥ TEEY 98 " A ¥

July 2023

¢) T d) =
¢) AT d) S
o T d) 7

¢) A d) A

) =3 & F9 A T
o) 394 fo5 d) F=

b) FHOT AR Hiar g i |
d) FHET AR a1 g 9 |

b) TH 9 FEET Gl |
d) TA J FHE A |

b) B FHL H 3T TE G« |
d) B HHG | 98 TE | g |

b) geHETE F TEET 9 Hiel fHaE g
d) gEEEE F1 TEEl T A A E
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91. ‘AES’ [T FT TAFATH T FIET 781 £ |
a) HH b) =g

92. ‘AETAT’ ToT F (ASW ST HAHT &2

a) ATIRTF b) HAETIE
93. FHT TR F 74
a) g9 b) T

94, IS g T & - 98 B | TAFT 2
a) FHHOT b) FAX

95. LT TS F B | (57 32

a) i b) &
96. ™ T H S w4l 82

a) g b) wfT
97-100 TG &F & |

97. THSET AR el T G |
a) HHST AR dar g qref |
¢) FHA AR a1 g g |

98. TH FEF! M |
a) U9 HEMA g1 |
¢) U9 9 FE GAE |

99, WY FWA H T T Hian |
a) AL HAC § 98 TE G |
¢) W FHT § T8 & G € |

100. JEEETE F1 THE 1 AT fFamE 2
a) JoHEE™ $I THEU L GeT fRae §
¢) IoEEE & THEY 92 919 frae §
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) 1 d) SET

c) TR d) 3T
o T d) 7

¢) d) =4

c) 399 fo d) T W 7=
c) 399 T d) F=

b) FHA R Hiaqr | G |
d) HHS X il g 4 |

b) TH ¥ FEAT G|
d) T | FEAT A

b) Y HAL H IG4 T G |
d) ¥ 9§ 98 TE 99 @ |

b) JEEEE H THE g2 AT fRae §
d) qediRE ®1 THET TS G160 e )
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